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g 123,039
Al 2,296,189
- 1,071,199
J=ME g & 24,136,107 24,249,658 A 113,551
= 21,474,600
Al 1,877,580
- 783,927
I =ME s & 24,136,107 24,249,658 A 113,551
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Al 1,877,580
- 783,927
MA = 23,632,890 23,393,959 238,931
= 21,269,600
Al 1,654,303
- 708,987
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= 21,269,600
Al 1,654,303
5 708,987
01 Al E& A 252 23,632,890 23,393,959 238,931
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- 708,987
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- 6,500
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Al 15,166
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QOldtE M= (L8t 216,666,000 216,666
= 195,000
Al 15,166
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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 Lt A= 207,000 0 207,000
Al 207,000
01 Al E & A 452 207,000 0 207,000
O M MH S X Hl 165,600,000 165,600
Al 165,600
O8JI=A: 41,400,000 41,400
Al 41,400
S0 g 23 4,210,624 3,313,208 897,416
= 3,542,873
g 123,039
Al 418,609
- 126,103
AEE NEAIY 23 4,210,624 3,313,208 897,416
= 6542 ,873
= 123,039
Al 418,609
- 126,103
R 2,925,917 2,326,904 599,013
2 2,633,326
Al 204,814
- 87,777
301 et A= 2,925,917 2,326,904 599,013
= 2,633,326
Al 204,814
- 87,777
01 Al E& A %52 ,925,917 2,326,904 599,013
oxnsgzz 2,925,917 ,000& 2,925,917
= 2,633,326
Al 204,814
- 87,777
NEXN&HE SAXF SR 18,720 18,720 0
Al 18,720
307 2iz2to| & 18,720 18,720 0
Al 18,720
10 M SXAANEEHESIGHEX 18,720 18,720 0
OXNAXEHE SAHA 22X %= 18,720,000 18,720
Al 18,720
NETEHE 29 292,813 304,997 N 12,184
= 204,969
Al 87,844
307 QI2t0| ™ 292,813 304,997 N 12,184
= 204,969
Al 87,844
10 A SXNANEEHESIGHEX 292,813 304,997 N 12,184
OXEXedy 29 292,813,000 292,813
=2 204,969
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 87,844
NETEE AMIIAMHIA EXAIL (OIAIIE S 2E 20 175,771 149, 391 26,380
)
s 123,039
Al 26,366
T 26,366
308 XXIEHHSOIA 175,771 149,391 26,380
ras 123,039
Al 26,366
T 26,366
10 B2 SUHUEEAHEAE A 175,771 149,391 26,380
OJAIHE & EE L0 A 175,771,000& 175,771
s 123,039
Al 26,366
T 26,366
NAXg adst 1,000 1,000 0
203 YR =] 1,000 1,000 0
03 Al =X A2 =XH| 1,000 1,000 0
ongnsagdst =& 1,000, 000& 1,000
2E2sBUA=+SNAE S NA(SLIISEE) 76,180 88,896 N12,716
= 67,250
Al 8,930
307 glz2tol & 76,180 88,896 A12,716
= 67,250
Al 8,930
11T AISI S XA E = 76,180 88,896 N12,716
OIS SHAY 76,180,000 76,180
= 67,250
Al 8,930
c2sgUerSs NS N (AYIISSE ) 193,149 319,257 A 126,108
= 171,031
Al 22,118
307 21201 A 193,149 319,257 A 126,108
= 171,031
Al 22,118
11T MISRASEEX 193,149 319,257 A 126,108
O3NS EE AL 193,149,000& 193,149
= 171,031
Al 22,118
22sdUA=+SHYESS N (UHLIISEE) 22,241 20,638 1,603
= 20,007
Al 2,234
307 gl2tol & 22,241 20,638 1,603
= 20,007
Al 2,234
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M ASIMNSEX 22,241 20,638 1,603
OUgsIsSEAMY 22,241,000& 22,241
= 20,007
Al 2,234
2EsEJ=EFS NS NI (HE LIS SH) 111,955 79,210 32,745
= 98,209
Al 13,746
307 212t0l & 111,955 79,210 32,745
= 98,209
Al 13,746
M ASIMNSER 111,955 79,210 32,745
OFds LI =S AL 111,955,000& 111,955
= 98,209
Al 13,746
22sAYSLBNALLBNA(AS2YY)) 4,275 4,195 80
= 2,993
Al 1,282
307 QI2+OI & 4,275 4,195 80
= 2,993
Al 1,282
10AMASNANEEE2EHES 4,275 4,195 80
O/ =23l 4,275,000 4,275
= 2,993
Al 1,282
ANAX&dEH S 23,274 0 23,274
= 16,292
Al 6,982
402 212t Xt=01 & 23,274 0 23,274
= 16,292
Al 6,982
02 QA 2AMLEE(0IXTHE) 23,274 0 23,274
OXEXtady sZd 23,274,000 23,274
= 16,292
Al 6,982
NEASSH(HHEAS) 365,329 0 365,329
= 328,796
Al 25,573
T 10,960
301 LetE = 365,329 0 365,329
= 328,796
Al 25,573
- 10,960
01 Al 2 & X =+05l = 365,329 0 365,329
OxXgdels 365,329,000& 365,329
= 328,796
Al 25,573
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=23 (a2 an) 128,320 128,320 0
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ORM2Z JlEs8H| 40,0003 x28H «12& 13,440
ORM Jl2ge 824y
8,000 «28H 541« 123 13,440
OHIANRLAMIE & M 10,000& »100&A 1,000
02 2324gl 1,500 1,500 0
OZgld & ZH KX 250,000 *63] 1,500
202 O4dl 94,080 94,080 0
01 = LH 4 Hi 94,080 94,080 0
OJlzge =d =20
20,0003 «28H x143| x 128 94,080
203 YR =&l 4,860 4,860 0
04 FNSELRZ=LH| 4,860 4,860 0
ORN2Y 2=l 405,000& x12& 4,860
HWeas(Ma23) 32,849 27,305 5,544
WEHAXS(HE2XHD) 32,849 27,305 5,544
HEHH X = 32,849 27,305 5,544
701 JIEtSI HSHES 32,849 27,305 5,544
01 JIEtel HE &= 32,849 27,305 5,544
OYz2s0WII=3 EE3H ¥&3 32,849,000& 32,849




